
20

Name No.

Leg tube dia. 38 mm (Φ) 

(1895 mm) 

Tube dia. 38 mm (Φ) (1930 mm)  

Tube dia. 38 mm (Φ) (940 mm)  

3 x 4 3 x 6 3 x 8 Ext ra

1 m

Ext ra

2 m

2

3

2

3

10

12

6 6

2 2

4

10

4

1

2

16

18

B1

B2

S3

S0

C31

C32

3

4

12

14

11

13

15


6

7

5

Picture

13 13

4

12

8

9

4

8

4

4

12

6

6

4

6

4

4

12

666

9 3 3

2 2

63

10866

2

2

4

Tent installation instructions Tent 3m   type S38 

Roof connection tube (500mm)

Steel rod

Turnbuckle

Peg 8x300 mm

Peg 6x180 mm

Peg 4x180 mm

String

Screw M6x20

Screw M6x50

Metal loop to mount the entrance

Corner triple connector (1200)  

Side quad connector (1200) 

Tube dia. 38 mm (Φ)  
(1520 mm)

Vertical entry link (500 mm)

Horizontal entry link (1670 mm)

Entrance mounting bracket

Roof connection tube (200mm)

3 x 2

4

3

4

4

4

6

12

4

2

2

4

4

44

62

38

49

3226

23 36



20




STEP 1

The extension tube (3) should be located  

in the second section. 

The tent should be deployed on the flat surface. 

F o r  t h e  t e n t s  w i t h  t h e  e v e n  l e n g t h  o f  t h e  s i d e   eg. 8m, 10m, 12m, 20m, 30m, …...



Distribute the parts as pictured below. Connect all the dia. 38 mm (Φ) tubes with the connectors using the M6x50 screws.

Mount a vertical entry link (C31) on the triple corner connector (B1).


F o r  t h e  t e n t s  w i t h  t h e  u n e v e n  le n g t h  o f  t h e  s i d e  eg. 9m, 11m, 13m, 21m, 31m…...



Distribute the parts as pictured below. Connect all the dia. 38 mm (Φ) tubes with the connectors using the M6x50 screws.

Mount a vertical entry link (C31) on the triple corner connector (B1).

Tent installation instructions

Front

B1

S3

S3

S3

S3

S3

S3

S3

S3

S3

S3

B22

2

2

2

2

2

2

2

2

B2 B2

B2 B2 B2

B2 B2 B2

B1

B1

B1
Back

Tent 3m   type S38 

B1

B1

B1

B1

Front

B1

S3

S3

S3

S3

S3

S3

S3

S3

S3

S3

B22

2

2

3

3

3

2

2

2

B2 B2

B2 B2 B2

B2 B2 B2

B1

B1
Back

B1

B1

B1

C31
C31

C31

C31
C31

C31

B1 B1

C31
C31



KROK 3 STEP 2/a

Tent installation instructions Tent 3m   type S38 

The aassembled elements should look like pictured above.

Mount the entrance mounting bracket (S0) on the both sides of the tent. Using the screws (15) connect the brackets 
using the horizontal entry link (C32) which should come through the already mounted vertical link (C31). 




2Krok 

B1
B1

C31

C31

C32

C32

S0

S0

S0

S0

S0
S0

C31

C32

S3

S3

B1

S3
S3S3

B2

B2

2

2

2

2

2

2 B2B2 B1

B1

B1

B1

B1

B1

C31

C31



Gently lift the tent on one side and mount the tubes (1).The tent’s feet should be mounted with their hole outside. 

Next, lift the tent on the other side and repeat the action.

Side panels should be mounted d irectly to the roof 
using the velcro stripes. Sides of the panels should be 
mounted using the elastic rubber with  the ball.


The upper part of the entrance using 
the metal brackets (18) to the vertical 
rope (C32). The sides of the entrance 
should be mounted using the elastic 
rubber with the ball.




18

Tent installation instructions    type S38

STEP 3

18
C32

Mount the masking stripes. One of each of the four wider 
masking stripes should be installed on the each corner of the 
tent.

18

11

11

11

14

14

14
Fix the roof pulls on the corners 
of the tent using the (14) and (11) 
parts. All the lines should be tight.


1 1

1

1
1


